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Topic:- GENERAL HINDI

1) ‘Good mind, good find’ 39 3i¥Is ®eTad &1 el e} 3ref warsu|
1. < =1 H A R, 7 087 A

2. 310 Hel ol ST Hedl

3. 37 TGN, 3l @hel

4. 33T A, S8R Tl

Correct Answer :-

« 30 Hl oY ST Hell

2) [ BT S geTaR o1 3d 3 -
1. SETG BT

2, AU &

3. 3(d U

4. Y FTd AT

Correct Answer :-

3) TIg 3R 31 W THEPR I B BT Pt MUT G aTdl oed Dl Fed 2l
1. UL

2. BT

3. 3[ADR

4. T



Correct Answer :-

4) f=1 Aol A @ IR &1 faenw Tarsu|
1. 3R
2. Goll
3. QT

4. 3TN

Correct Answer :-

5) Sgd HTTSH PT 1T B TP e W FIT HEd 82
1. SgYUTST

2. §g HIVTTdG

3. 98 YIYTfay

4. 9gT

Correct Answer :-

Correct Answer :-

. DY

7) fopar & fora U & g var 9« & fovar &1 g fawg
1. 91 | HH g1 HIF Dt GYIT ST arelt fbar gl

2. 919 | i g1 HH T HId BT YY1 gdT arelt fosar gl




3. dTR H hdl i YT §dT= aTdll 191 gl
4. Hdl g, HH g ITHIT IY A Ped o

Correct Answer :-

. Hdl g, HH ¢ TT UG 39 T Hgd & |
8) TUTY Xeg W VYT U @ -

1. a4l

2.9

3.9

4. 91q

Correct Answer :-

9) qTe AT Y& FRIE srter, gh-gf =< geranfa
IR W @ 21, wY 3t g frmafar

HufFa AT eI e?
1. R ™

2. Hfdd T

3. AT T

4. I Y

Correct Answer :-

o dlcdcY Y

10) CANCELLED
“dRT BT qgigart gl
1. dR&

2. 3G
3. UHI

4. dfsd

Correct Answer :-



Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
‘Brevity is the soul of wit’ implies.

1. Witty people are generally diminutive

2. The essence of intelligence is to be brief in expression
3. One can go on and on and still make sense

4. Great intelligence is always associated with long speeches
Correct Answer :-

« The essence of intelligence is to be brief in expression

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

I had been rudely awakened.

1. made weak
2. slept

3. roused

4. manhandled

Correct Answer :-

» roused

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

In olden days, living was cheap and an earning of ten thousand rupees __ a huge amount.
1. was

2. are

3. were

4. have been

Correct Answer :-



4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

I to my friends place tomorrow to study.
1. will be going

2. would be gone

3. had gone

4. going

Correct Answer :-

« will be going

5) Choose the appropriate adverb clause from the options to complete the given sentence:
You can put it

1. somewhere for you

2. somewhere

3. wherever you like

4. wherever

Correct Answer :-

« wherever you like
6) Out of the following four options, choose the incorrect sentence:
1. We have worked with organizations that cater to the lifting up of neglected slum and homeless children

2. Our training does not appear to be delivering adequate value and a number of people are highly critical on how
we train them.

3. A enchanting white marble lobby, adorned with traditional Indian motifs occupies the pride of place at the Taj
Mabhal Hotel.

4. Campus recruitment was very spasmodic and we need to ramp up and professionalize recruitment processes.

Correct Answer :-

« A enchanting white marble lobby, adorned with traditional Indian motifs occupies the pride of place at the Taj
Mahal Hotel.



Out of the following options, choose the most appropriate usage to fill in the blank:
The remark wasn't intentional; it happened

1. by slip
2. in accident
3. by accident

4. through accident

Correct Answer :-

« by accident

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.
1. It happened exactly three days ago.

P. Some concessions from the six other countries were expected in return.

Q. Britain made concessions on commonwealth preference.

R. Instead they interpreted Britain's concessions as weakness.

S. It would have the effect of reducing commonwealth imports to Britain after 1970.

6. Their latest demand is more damaging than their last proposals.

1. SQPR
2. QSPR
3. PQRS

4. SRQP

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) According to Census 2011 in Madhya Pradesh, the percentage of total male child population (0-6 years age
group) to total male population is ./

ST 2011 & IR, 99 U § $d YW IS § & $d ToU 919 Mard! (0-6 I Mg aif) HT ufa=ra
___®

1.20
2. 15
3. 18

4.22

Correct Answer :-



2) Who is the first Indian female gymnast to win a medal at Glasgow Commonwealth Games 2014? /

2014 T APHST Wil § g SiiaA arelt T4 YR formre afgen #14 82
1. Dipa Karmakar / a1 HHIHR

2. Anjali Kashyap / 3{olcll HROU

3. K.M. Beenamol / &. TH. Sfi-THId

4. Mithali Raj / THrTel IS

Correct Answer :-

« Dipa Karmakar / <1 HH®HR

3) Who among the following cricketers born in Madhya Pradesh became the first Indian to score a test century
overseas for India? /

ﬁuﬁ?mﬁﬁﬁﬁq%‘,ﬁﬁnmmﬁﬁagﬁ,ﬁm%mﬁ%ﬁﬁwwaﬂﬁmﬁuﬂﬁ
YR 82

1. Syed Mushtaq Ali / 39¢ JdTH 3fait
2. CK. Naydu /¥l &. A9g
3. Mansoor Ali Khan / AT 3l @M

4. Chandu Sarwate / ?@ﬂﬁ?

Correct Answer :-

« Syed Mushtaq Ali / ¥9¢ HRdT (il

4) To rewrite and harmonise financial sector legislations, rules and regulations, the Central
Government constituted the Financial Sector Legislative Reforms Commission (FSLRC) under who's
chairmanship? /

farita & & ST, FRawl ok faftraw) & fibe | fRirea Sk O 91 & g, s IReR A fPaat sreaeran
T fa<ita & faurlt gur maT (TwegamRdt) &1 weH fHar?

1. Justice B.N. Srikrishna / ST ot T, %&m
2. Dr. Meghnad Desai / 3T HeHTG éﬂlé

3. Dr. C. Rangarajan / 1. 9T, YRS
4. Dr. Subir Gokaran / €. &R Tl

Correct Answer :-

« Justice B.N. Srikrishna / SIf&¢H ofl.TH. fion



5) Who was the first vocalist to have been conferred the Bharat Ratna? /
YR ¥ | THATd fhY T ugd T &1 A

1. Lata Mangeshkar / <Idl TR

2. Bismillah Khan / fafRyear @t

3. M.S. Subbulakshmi / TH.T9. Jegaedt

4. Pt. Bhimsen Joshi / ufga Hiuaq o=h

Correct Answer :-

« M.S. Subbulakshmi / TH.TH. egaigH

6) Name the Indian singer who was born in Indore and jointly awarded the Bharat Ratna along with Ustad
Bismillah Khan in 2001. /

I URAHT T &1 19 Fa1¢, 5T 979 3SR ¥ g3 iR o Igaa v ¥ 3wre fafreare W & |1y 2001 #
YR Id A W1 forar |

1. Ustad Amir Khan / S&ITG 3R @™
2. Kavi Pradeep / fd UdId

3. Piyush Mishra / lﬂ'q:q foem

4. Lata Mangeshkar / &Il TR

Correct Answer :-

« Lata Mangeshkar / ST HIRIHR

7) “The Race of my Life’ is the autobiography of which Indian sports personality? /
< I 3P A1E a8 frg YR fAars) &1 srapur 82

1. P.T. Usha / Ut. &. 9w

2. Milkha Singh / forerar Rig

3. Anju Bobby George / 3iS] dTell Sifst

4. Yuvraj Singh / gaRTol Rig

Correct Answer :-

« Milkha Singh / frera g

8) In the MP Budget Estimate 2018-19, was the least contributor under the Tax Revenue of the state. /

T YR ToTe ST 2018-19 H, 5T & B YOI & SiTd STy TPl ATl



1. Electricity Duties / Iaa\qa Rleh

2. Tax on Vehicles / A8 TR B

3. State Excise Duty / v Sl R[eh

4. Land Revenue / 3-‘[&[ RIS

Correct Answer :-

» Land Revenue / 'l-‘[&-l NS

9) Where in Madhya Pradesh is the Kalidasa Sanskrit Academy located? /

AU | PG WP SAPIGH! Bel (RUd 82

1. Gwalior / WIfeRR

2. Vidisha / fafgam

3. Bhopal / T

4. Ujjain / IeH

Correct Answer :-

e Ujjain /I

10) CANCELLED

When and where was the National Library of India inaugurated and opened to public? /
HRA & I QAPTET F1 3GUTC $ 3R HE1 §HT YT T ST & fIQ o Fierm 141 412
1. Mumbai, 1950 / 43, 1950

2. New Dehli, 1951 / T8 fawelt, 1951

3. Kolkata, 1948 / TIcIhIdT, 1948

4. Kolkata, 1953 / BIcIebTdl, 1953

Correct Answer :-
« Kolkata,1953 / ®Id®Tdl, 1953

Topic:- GENERAL REASONING

1) Find the missing number: / q&l ST {Td P
110, 132, 156, , 210

1.192



2.172
3.182
4. 162

Correct Answer :-

. 182

2) Find the average. / 3N JTd Y|
52, 88, 73, 64, 88 & 85

1. 81

2.75

3.79

4. 83

Correct Answer :-

3) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

frafefEd fow e ar ual # 9 = fi 1T ud & e w9 31 |91 0 781 82

Paradise Drive Wirrina Cave,
South Australia, Yankalilla,
SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

(i) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400



(ii) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5023,
Australia

+61 8 8598 2400

(iii) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

(iv) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,
SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

1.1

2.1v

3.1

4. 111

Correct Answer :-

o 1l

4) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
2 & 7€ gErar raRY Td G=ATSH BT SIHH THINT ! 8 | Teld HaeH Uga |

(i) KI9SLMS6EW

(ii) KI9SLMS8GEW

(iiii) KI93LMS6EW

(iv) KI9SLMS86EW



4, iii

Correct Answer :-

5) A can do a certain job in 14 days. B is 40% more efficient than A. How many days does B alone take to do
the same job? /

A TF i3 o1 o) 14 A1 & H2 IHa1 21 B, A T 40% 3ifUF FA 81 B HI 3bd IH BT B B3 A foamn
JHY TRM?

1. 10 days / 10 faA
2.12days/ 12 faa
3.8days/ g faA

4. 14 days/ 14 fa

Correct Answer :-

. 10days/10feT

6) If A and B are two sets such thatn(A) = 33, n(B) = 41 and n(AUB) = 46, then find n(ANB). /
afc AR Bel ¢ 59 9K & & n(A)=33. n(B) =41 3K n(AUB) =46, @ n(ANB)
EIGEETY

1. 26

2.24

3.25

4,28

Correct Answer :-

7) If D = 4, COVER = 63, then BASIS = ? / 9f¢ D = 4, COVER = 63, dt BASIS = ?
1.50

2.54



3.55
4.49

Correct Answer :-

+ 50

Topic:- PEDAGOGY

1) Roger’s client centered therapy is based on the assumption that: /

ST T AT higd AT 6 T I YTRA § T

1. Man works in the direction of satisfying his needs and achieving his goals. / 97tJ HIAT T Eﬁtg{‘r

Tl S AT AT I ITH FLA i (T § FH FHdT gl

2. Man, creates his own self but cannot move forward. / T, SMTAT T T FHTH G& FHLAT g AT AT Al
% qFHAT g

3. Man, is a social animal and the society dictates his behavior. / A, TF HTATISTE YU g 3T THTS IHH
FIEE FI HETd T 2|

4, Man, is a creative, rational, and constructive social being, but he needs support to solve problems. /
ATTHT, U TAATCH S, THEIT ST TAATCHE FTHTOME IO &, SATohed THEATSA T 1 FA & (10 I AT il
ATFTTHAT 2|

Correct Answer :-

« Man works in the direction of satisfying his needs and achieving his goals. / At =T STELAT &l T

Tl S AT AT I ITH FLA Al (T § FHTH FHAT gl

2) In cybernetics, the machine is controlled by: /

IgaRAfeay A, #=iF &1 = g1 fAeifaa fear siran @:
1. Using Compulsion / IEEEGIED ?R?itn?r
2. Using force / 9¢1 TN

3. Human beings / Hral
4, Regulations and feedback systems / fafae 3R ufafssar yomeh

Correct Answer :-

. Regulations and feedback systems / fafa® 3R ufafesar yomet

3) Sensory feedback mechanism means that: /

viﬁz"ruﬁrmaamarﬁﬁﬂ%{



1. only visual feedback is provided. / Had T YidishdT UG i SITdl B |

2. all human activities are taken into consideration. / G4 ATFa TfAfAferal o) &= § a1 ST g |
3. reinforcement is a self-acting device. / U Udh 9-Yfchd IUBHRU] %I

4, reinforcement is a self-controlling device. / U Udh - HfAd IR % |

Correct Answer :-

« reinforcement is a self-controlling device. / Ud ¢l Udh - HfAd IR % |

4) In which of the following fields was the first laboratory was set up in Leipzig, Germany? /

frafafaa & 3 fow & | argfer, s & uge warm=mrear wuifta #1713 &b
1. Industrial Psychology / 3Nt gfas=

2. Clinical Psychology / &I-d HAIR

3. Educational Psychology / s EEEIIERIE

4, Experimental Psychology / IR CREECEIE]

Correct Answer :-

« Experimental Psychology / IR CREECEIE]

5) Who postulated the theory of multiple intelligence? /

e o & fram vafire-gfcuar & Rigia &1 ufdures far ur?
1. John Watson / SII<1 dleg

2. A. R. Jensen / U.3IR. S

3. E. L. Thorndike / 3.Td. AHSTSH
4. Howard Gardner / Eﬁé 1 Ié I

Correct Answer :-

« Howard Gardner / 3'\|171|_5c 1 Ié'_ﬂ

6) Using of audio-visual aids and physical activities in teaching will: /
Rreror ¥ siffeal-fasisrer geraar ik i nfafaftray &1 3uah:

1. provide a diversion to learners. / Rrenfial &1 tew J-I\IS_ A ICZRR | |

2. provide rest and relief to teacher. / FRI&/ BT R 3R IEd U= BT

3. facilitate effective assessment. / GHTGRITA! b DI TSl DT



4. utilize maximum number of senses to enhance learning. / 3{IETH B[ dgMH & Tl HIYHdH TAT H [dddh &l
SUGNT T |

Correct Answer :-

« utilize maximum number of senses to enhance learning. / AT DI aaﬁ & fore siftipay T # fade &1
SUGIT BT

7) 1If the students do not understand what is taught in the classroom, the teacher should feel: /

gfe faenfdal & st & 73 smar f& wem & @1 Riaman simar 8, 9 e &) A vegy s3a1 wifeu:
1. Terribly angry / Wi iy

2. That he is wasting time / dg JHI CEIFEREE] g

3. Pity for the students / GIEIG %'Q a1

4, To explain it in a different way / Eﬁ 3T dth I REEIY

Correct Answer :-

 To explain it in a different way / Eﬁ 3T dth I REEIY

8) Whose theory states that, “Children actively construct their understanding of the world”? /

e Rigia o wg1 a1 8 5, o= aftba ¥ A g & IR ¥ eroeit wast &1 Fafur sa g2
1. Skinner / RFR
2. Rogers/m

3. Bandura / S
4, Piaget / oS

Correct Answer :-

« Piaget/ Ot

9) ‘Mirambika’, the school based on concept of free progress education was advocated by:/

Rrifer 4. 3106 wifa Rien 9t sauron w snutia wod &1 qud= g7d gRT f5ar T or:
1. Gijubhai Badheka / RTSJHTS SU®T

2. Aurobindo / &m

3. Rabindranath Tagore / JSIFEATY SR

4. Vivekananda / fJqd®™g

Correct Answer :-



« Aurobindo / Gﬂﬁa

10) What is the natural language acquaintance? /

WIpTad UTNT B Uga T 82

1. Hearing, speaking, writing, reading / {11, ®|\IQ'1'-II, I?R@I'-II, Uel

2. Hearing, speaking, reading, writing / {1, GI\IQ”I"II, Uel, foram

3. Writing, reading, hearing, speaking / 1%17@:”, Yel, g1, CING

4. Speaking, hearing, reading, writing / d\I('HI, 1, Uel, foRgHT

Correct Answer :-

« Hearing, speaking, reading, writing / {11, GI\IQHI, Yo, forgHT

11) In the teaching-learning model, the correct sequence of five E’is: /
Rrgrur-efinm uisa A, uig £ & G e H 1 8
1. Elaborate, Engage, Explain, Explore, Evaluate / ﬁﬁﬂ, A, OReAT, 3=y , W

2. Explore, Engage, Explain, Elaborate, Evaluate / H%WUT, e, TAT, i?uqq, J-Ll\c'qidﬁ-l

3. Explain, Elaborate, Engage, Explore, Evaluate / oIS, ia%Qd, e, W, W
4. Engage, Explore, Explain, Elaborate, Evaluate / “Gi?f’:[, 3N , o, ﬁﬂﬁ, W

Correct Answer :-

« Engage, Explore, Explain, Elaborate, Evaluate / “GiFF:L 3N , o, ﬁﬂﬁ, W

12) One of the following factors is NOT a cause for learning disability: /

fr=afafaa § 9 19 91 SRS JIRATH 3feHdr ST FRUT L] 8:
1. Behavioral disturbance / W faeT
2. Emotional disturbance / HTd-TT&b faeT

3. Cerebral dysfunction / (CITI'W ﬁTD Wl feathar™
4. Cultural influence / W UYHId

Correct Answer :-

« Cultural influence / W UYHId

13) Child-centered pedagogy means: /



Td-THB s IRIET-IATH BT - 34 &:

1. Letting the children be totally free. / S<dl Bl U;Uf w0 Y WA 38 ol

2. Putting the children in the center and observing them. / S B g H @GN 3R I Sadidhd HRAT|

3. Giving primacy to children’s voices and their active participation. / Sl B STl 3R 3! Tfshg
T HIRTAT &) gadr <

4. Asking the children to follow and imitate the teacher. / < ol &P B STTERUT HRA TUT IH A B & [T
el

Correct Answer :-

« Giving primacy to children’s voices and their active participation. / gl 1 3MTaTel 3R 3! Ffeha
T HIRTAT &1 ggadT <1

14) Children become active members of their peer group in which of the following periods? /
= ffefea 7 9 e safyr & s Wi Wi & wfhy 9o a91d 62

1. Late childhood / STeITaRIT & §Ta

2. Early childhood / Jd STeaTa®T

3. Childhood / ST

4. Adolescence / TorRTRTAIRIT

Correct Answer :-

« Childhood / STeHTARIT

15) Thorndike’s instrumental conditioning is famously known as: /
YHIES P A ST, G&Id: 59 A4 § it st oireft -
1. Latent learning / 3o 3{TeRTH

2. Trial and error learning / URI&0T T4 Ff SiferTH

3. Insightful learning / ey e

4. Classical conditioning / FATRIB S el

Correct Answer :-

« Trial and error learning / URI&UT Td ¢ 3ffeTH

Topic:- AGRICULTURE

1) Potato belongs to the family of ./



3T IRaR A Heftd g1
1. Crucifereae / W

2. Compositeae / HIIfoTE

3. Solanaceae / Jlc-4!

4. Legume /W

Correct Answer :-

» Solanaceae / Fﬁéﬁﬁ

2) The improved seed distributed to farmers for commercial cultivation is: /
a3 aiftifeus @t & forg faafva s diw FA g1 &

1. Foundation / 3414

2. Breeder / Yol

3. Nucleus / Y&

4. Certified / FHTIOId

Correct Answer :-

« Certified / GHIOTT

3) The method of mass communication is: / IGE=] Udh oiq IR o1 fafy %:
1. Farm visit / Ad &1 YA

2. News paper / JHIHR UA

3. Group discussion / W EEl

4. Demonstration / HG&H

Correct Answer :-

» News paper / HIHR UA

4) Sub-soiler plough is best suited for ./ G9-Tsax g & fore Taffee suge giar
gl

> [N I -
1. breaking hard fan / T3 JaTd® (818 W) B! dig-
2. inter cultivation / 3{d: qv—m (_Q'E’? EbTaa'QF'D
3. making ditches / @'Ié (ﬁ':%m) CEIE|

4. deep ploughing / el T{Fﬂ_sc




Correct Answer :-

N

. breaking hard fan / €3 TaTd (TS B) &I Al

5) The chemical mutagens usually induce ./

IS IARTd GTHRI: 3! IRd Hd B

1. chromosomal breakages / W cc-hc
2. chromosomal translocation / ﬂm{?ﬂq RJIEIGRY|

3. gene mutation / S IR

4. none of these / 3711?[ ) ﬁ‘s‘ 7133[

Correct Answer :-

« gene mutation / 519 RICIRCRE|

6) Soil particles deposited by flowing water is called .
e U UM RIS P M geTF Hor gl
1. colluvium / ﬁ[’ﬁn_({

2. albedo / eSS

3. alluvium / W
4. aquifer / SICTHY

Correct Answer :-

o alluvium / Gl?hw

7) Glyphosate is the active ingredient of: / TATSHINE A &1 U Afpy Jues g:
1. Treflan / SO

2. Himore / %ThT

3. Round-up / JFS-30

4. Gramoxone / ATHIG

Correct Answer :-

« Round-up/ A38-37

8) If the marginal product is more than the marginal cost, then further investment in production
is ./



I HHTd GRTd PI AT H JHHATT TG MUP &, A SAGA H SFAT A §lAT 6l
1. harmful / BIHBRSD

2. equal / SRT&R

3. profitable / ATHHRI

4. no effect / FISTHTE

Correct Answer :-

« profitable / ATHDRI

9) CANCELLED

Beet root stock for citrus in South India is: / f&10T YR & ﬁlﬁ Cg 1Y qohax C4| G§ Bl wip A= 3:
1. Citrange / ﬁ@ﬁ

2. Cleopatra mandarin / faeaider #eTiA

3. Turnip / RIeTSTH

4, Rangpur lime / Tﬂgﬁ{ NIEE]

Correct Answer :-

« Rangpur lime / T"I'gﬁ NIEE]

10) CANCELLED

Identify the compound formed when sucrose undergoes fermentation reaction?/
W19 Gepiol fhua ufaferar & TeRd! 8 di Tfed N ot ugar w32

1. Propanone /uﬁﬂﬂﬁ

2. Propanal /Ehﬂqm

3. Ethanal /Q‘a:ﬂa

4. Ethanol /Qa:ﬁ’?[

Correct Answer :-

« Ethanol /qﬂ?T?«r

11) CANCELLED

What is the disadvantage of ploughing in arid and semi-arid zones? /

IR YT 3AG-FHR &3 | TS B BT T TP I 872



1. Reduced root growth / STS I q@ HHH

2. Loss of soil particles / Jal &Nl @1 &ffd

3. Loss of soil organisms / Hal %ﬁ&ﬂﬁﬂaﬁ &1 &fd
4. Loss of soil moisture / {al Dt TH Dt &fd

Correct Answer :-

« Loss of soil moisture / &1 &1 FH! 1 &ifd

12) Which part among the following is absent in buffalo as compared to cow? /
TR &1 gaeT | 4 | B4 a1 e srgufya giar 82

1. Dewlap / TTelch e (tc:qﬁu)

2. Pastern / T:I?ﬁ @Tﬁ&l}

3. Neck / TITZE_"T

4. Knee / gc-Il
Correct Answer :-

. Dewlap / TAHEA (SYcY)

13) Pungency in garlic is due to: / deg # dRaru= 1 & sRUT ST 8:
1. Lycopene /Wtﬂ:[

2. Diallyl disulfide / ST SISUAPISS
3. Allyl propyl disulfide / Tferet UIfUd SRAHIZS
4, Allicin / Qﬁ“lﬁlq

Correct Answer :-

« Diallyl disulfide / SPNNIN SIENKSES]

14) The process of removing of bark on stem or branches of fruit crops is known as: /

Pl B B & a9 AT MERI R ITA B geA P Ufbar | & A ST Sl B
1.Eye/\3'|'|?gc
2. Cuttings/w

3. None of the above / dqfidrl oy d;l'-::'_'lgsf

4. Patch / ﬁ%r



Correct Answer :-

. Patch/Ud

15) Central Potato Research Institute is located at ./
PHg G IgEYI IR A fRE 7

1. Jammu & Kashmir / Gﬂﬁ\’:ﬁ? HRAR

2. Shimla / fRIe

3. Punjab / UEIC|

4. Pantnagar / UdTR

Correct Answer :-

« Shimla / FREam

16) Fruit crops propagated by seeds, bear flowering. /
T ERISTE T Pa I 1 wad, padarddigl

1. early / Sledt

2. no flowering / ﬁ_’if hd :i_E?[

3. none of the above /s:lff ) aﬂ's‘ 7'|€T
4. late /é?ﬁ

Correct Answer :-

. late /XY

17) Harrow is drawn by: / %?3[ Cal _gRI YT ST % |
1. Only diesel /W Eﬁw

2. Only tractor / Had %EET

3. Only bullocks / Fad Sdl

4. Both bullocks and tractor /é?ﬁ 3R %ATET aHl

Correct Answer :-

« Both bullocks and tractor / ad 3R %ATET al

18) Losses of nutrients in soils can occur due to: /



™S H 9Ivs ddl Dl HHI & PRIl Pl 5l
1. Leaching only / ad fH&Ta

2. Nutrient removal by crops only / HId Bl B 1IN Y& ddl &l HbTaq

3. All of these / ITYad Tt

4, Erosion onIy/W &RUT

Correct Answer :-

o All of these /B'Clgﬂﬁﬂﬂ-ﬁ

19) Salad crops are those crops that are used for ./

TG BHd, 9 BHd gidl § ol & ferg SuahT &t eirdt 71
1. ornamental purpose / Jolact 3=

2. latex extraction / é%a%r ﬁWﬁfUT

3. canning /%@Wﬁ m

4, raw consumption / o 0 H Jud

Correct Answer :-

« raw consumption / F *Yg | [qUd

20) A virtual and enlarged image is obtained at a distance of 20 cm from a convex lens of focal length 10 cm.
Where is the object placed in front of the lens? /

10 A Bldd a1 aTed T Sua o d | 20 TH 31 g8 I U et iR ermafifa o3 ura &t st
21 99 & qTHA a¥g Hel U= W1 4T 82

1. 20/3 cm from the lens / & ¥ 20/3 @'lﬂfg
2. 10 cm from the lens / T8 I 10@111?

3. 20 cm from the lens / T I 20 @T?[ER

4. 3/20 cm from the lens / g g 3/20 It [+

Correct Answer :-

e 20/3 cm from the lens /G 20/3 @'lﬂfg

21) Lime stone is used for the reclamation of which of the following soils? /

Frafafea & 3 19 @ ga1 & JuR F e, 9 o1 IR (@150 T iF) Wge f6ar S g2
1. Laterite soil / a%TI_Sf_C'IET



2. Acid soil / 37T Hal
3. Sodic soil / HIfSH Fal
4. Alkali soil / &TRIT HaT

Correct Answer :-

. Acid soil / 31T FaT

22) The physical property of soil which cannot be changed is: /
&1 ®1 a5 Hifae quierd, o ufafda a8 fear s awar o:
1. Soil structure / HaT T

2. Soil texture / Hal dqIdc

3. Soil colour / J&T AT

4. Bulk density / ¥Jc] Udcd

Correct Answer :-

+ Soil texture / Hal d-Idc

23) Viviparous seed are reported in: /
SRTg st A= # uTe ord €

1. Grape / 31X
2. Mango / 3TH

3. Papaya / gutdT
4. Jackfruit / cgd

Correct Answer :-

« Jackfruit / dbcCed

24) Potassic fertilizer(s) most suitable for potato and tobacco is/are: /
3T 3R g & 1T Fad Iugw UleThie Bidargek g1d &:
1. Sulphate of potash onIy/%F’[th?l'ﬂ%ﬂ?eh_c,r

2. All of these /G'Cl'éaﬂﬂ“-ﬁ

3. Schoenite onIy/WQn_rﬂ%_c’

4, Muriate of potash onIy/WW%W



Correct Answer :-

 Sulphate of potash onIy/m qIeT & gohe

25) Which of the following herbicides is used as post emergence in wheat? /

fFrefafea o Q o9 a1 et 38 ¥ vy 3gd & U A uged faar 9 82
1. Atracin / TCTRIA

2. Glyphosate / TASHIRIC

3. Fluchloralin / TRe[GRTIRTCI

4.2,4-D/2,4-31

Correct Answer :-

« 24-D/2,4-8

26) Which of the following instruments is used for measuring angles of slope? /

A & DIV B A9 & g Frferf@a & § o1 |1 Suwor yaiT far s 82
1. Graphometer / ATHIHICY

2. Inclinometer / AT (FaTEAMICR)

3. Macrometer / HEhTHICR

4. Optical square / 3ITPIHd ¥

Correct Answer :-

« Inclinometer / ST (saﬂﬁthm

27) is the farming practice of plowing across the slope of hills. /

__ UgIfedl @l ea W Wdl I JdTg 1 3t U fafU gl
1. Crop rotation / BUT 3HTadH (19 A<T)

2. Terracing / HIGIGR (SR

3. No-till farming / SdTs-Ifed Qe (AI-fed B

4. Contour ploughing / TRYET SdTs

Correct Answer :-

« Contour ploughing / S| EERGID| T{Fﬂé



28) Command Area Development Program was started in ./
Fuis A e ey o 3= frar mam A

1. 1982-83

2. 1970-71

3. 1978-79

4. 1974-75

Correct Answer :-

e 1974-75

29) The cooperative movement was started first in ./

HEPRI Sfiga-T HdqYd # yreH fooar mar i
1. Germany/Glﬁzﬁ

2. USA /guyu
3. England / 3_’%_6'

4. India / HRd

Correct Answer :-

« England / 3”%_6'

30) Ina system of planting, row to row distance is greater than plant to plant distance. /

AuurelTe_ fafud e d qe & g B g A ufea @ ufea 3t g eiftre gt 2
1. rectangular / 3TUdIHR

2. diagonal / famf

3. square / ATMHR

4, triangular / ﬁﬂj\_ﬂW

Correct Answer :-

« rectangular / ATdIHR

31) Which disease in rice is caused by zinc deficiency? /

i &1 it & gRT ITad H I T a1 32
1. Khaira disease / @T[ﬁr[



2. Bacterial blight / GﬂﬂTfﬂG[ SATHRT (a_cl?ﬁﬂtﬂ SYIES)

3. Bacterial leaf streak / \_rﬂa'l'qj,\_rf quf R m Nk @A@
4. Sheath blight / 3¢ START (Y A12E)

Correct Answer :-

o Khaira disease / BRI AT

32) Carrot belongs to the family: /

ok 39 URaR | Hafid &
1. Umbelliferac / 3T
2. Malvaceae / ATAIA

3. Cruciferae / W
4. Solanaceae / @F’Iﬁﬁ){

Correct Answer :-

« Umbelliferae / 3T

33) Infection of Coccidiosis disease can infect the bird up to the age of ./
DIGAITSTdT INT BT JAHHOT P P Mg P Ueh B Tepfid s aopar gl
1. 3 weeks / 3 T«ile

2. 1 week / 1 Hidlg

3. 5 weeks / 5 didlg

4. 10 weeks / 10 i dle

Correct Answer :-

o 10 weeks / 10 Htdlg

34) Name the advanced stage of rill erosion? / ¥ 3ruRed & IFd TR BT ATH gdrg?
1. Stream bank erosion / & §& 3R

2. Gully erosion / g1l {uReH

3. Splash erosion / TP HUIG

4. Sheet erosion / M HURGA

Correct Answer :-



 Gully erosion / grel ARG

35) Name the soil microorganism which is free living bacteria and non-symbiotic? /

I YT JEASIIg BT ATH FdT¢ St Wqaa Siifad ¥g- arem daciiar iR iR-geeiidl 82
1. Azospirillum / TSIRUTZRTH
2. Azatobacter / TSlicldaeR

3. Rhizobium /ﬂ%ﬁhﬁ'ﬂ'ﬁ[
4, Blue green algae /il &R Qard

Correct Answer :-

. Azatobacter / TSllCIdaex

36) Scum formed during the dissolution of soap in hard water is the precipitate of: /

HoR o | g & fage & G A ygae a1 e A o1 sadu g g:

1. Magnesium and calcium salt of mineral acid / AR 3R @AY 3 & Hfmay daur

2. Copper and calcium salt of organic fatty acid / PR 3R BTHD T3 P BT AUl

3. Calcium and magnesium salt of organic fatty acid / HqTH 3R HIed aI1-3d b HAREH daur
4, Sodium and copper salt of organic fatty acid / TIfSTH 3R BIEb TII-3 &b HIUR AT

Correct Answer :-

« Calcium and magnesium salt of organic fatty acid / PIITH 3R DIEd TI1-3d b HUREH Fdaur

37) Laterization is a process of accumulation of in soil. /
A, qATH & AUV & forg Ft &M arelt ufhar g
1. CaSO4 /[ CaSO4

2. CaCos / CaCos

3. silica / fRyferepT

4. iron and aluminium oxides / T Qa Wﬁ’qﬂ HVWE@

Correct Answer :-

« iron and aluminium oxides / ATIXA Qa Wﬁ’qﬂ HVWE@

38) Barograph is used to record: / R = & A ﬁI'E Ugdd Ea?IT %:



1. Soil strength / IET"VTIT[?If
2. Soil water potential / QT ST¢T &HdT

3. Soil temperature / Hal dTUHIT
4, Continuous record of atmosphere pressure / aTﬂﬂ?:T*ﬂz[ a1 o1 fFRaR Rl

Correct Answer :-

« Continuous record of atmosphere pressure / aTﬂﬂ?:FﬂT[ 21§ &1 R Rl

39) Wax coating treatments enhance the shelf life of fruits because it blocks: /

%ﬁﬁﬁmﬁﬁwﬁmmmﬁwmﬁﬁaﬂwm%,aﬁ%uﬁﬁmﬁmm

1. Pollination / URTITOT

2. Respiration / A
3. Ripening process / U+ &I ufhar
4, Transpiration / GRS

Correct Answer :-

» Respiration / RdH

40) If the base radius and the curved surface area of a cylinder are 6cm and 528cm? respectively, then its
height is: /

afe TP 909 & MUR $ U1 vd T T¥IT 7w d FHRT: 6 QU T4 528 AH2 §, 99 3P HATS ©:
1.21cm /21 T

2. 7em /7 94t

3. 12cm / 12 941

4. 14cm / 14 941

Correct Answer :-

« ldcm/ 14 9T

41) Pungency in chilli is due to: /

it o Frau= 1 PRI B:
1. Cucurbitacin / PRI



2. Capasicin / BRI
3. Capsanthin / FUARH
4. Glycoprotein / INIECAPIEE

Correct Answer :-

+ Capasicin / FUIRHA

42) is done by the person who is implementing the Program. /

9 fHI GRT B ST § Sl $RIHH B HrATfad $L @15
1. Monitoring / AR
2. Rejection/&w

3. Confirmation / WUT
4. Evaluation / HedTh

Correct Answer :-

« Monitoring / AR

43) Hill soils are generally ./ qddig e AWEd: Hoikd
1. alkaline / &R

2. neutral / 3G

3. acidic / 3f%A

4. saline / IO

Correct Answer :-

. acidic / 3T

44) Cold temperature treatment of seeds for inducing germination is referred as: /
PR U A & fore diwl | 68 A= AR &t & U H ST ST g
1. Vernalization / SRl

2. Sterilization / faG g HUT

3. Stratification / TIRIRUI

4. Scarification / UTeSTd

Correct Answer :-



« Stratification / ¥dRIH 0T

45) The fertility level of any soil is generally determined by: /

fopdt it Frdh &1 worA R SR WR 39 g1 fAeffya gar @:
1. All of the above / G'q?i?ﬁ gt

2. Aeration and hydration only / Had dra 3R E>'I$:§-‘2I"I

3. Humus and mineral contents only / Had gl 3R @ gefat

4. Hydration level only / ad B8 S Wi

Correct Answer :-

« All of the above / G'Cl'éw qut

46) The overhead cost is also known as: / IURENTA (3Ma¥e®) &I = a9 I WY ST ST @
1. Marginal cost / HHid arTd

2. Variable cost / TRAT-1T AT

3. Total cost / I <ITd

4. Fixed cost / FRRR T

Correct Answer :-

. Fixed cost / FRR AT

47) The statistical procedure for estimating whether the difference under study is significant or non-
significant is known as: /

Ig SHT A & e wifereia ufrar & 6 sivras & agd oiar Heayyl & a1 R-Aewqf &:
1. Level of significance / A8 BT TR

2. Sampling / UfdesiT (&wafeim)

3. Test of significance / TS AT URI&UT

4. Standard error / AT FfC

Correct Answer :-

« Test of significance / T gRTeur



YT, YT AT HTRAP AT DI = & STIRT GIRT HIUT ST bl B:

1. Weighted harmonic mean / HIRA SIS HeTHH (das SRUI® Jﬂ?)

2. Mode / Sgd® (HIS)
3. Geometric mean / STTHAR A (SAA¢H HiF)

4. Median / AT (HIfST)

Correct Answer :-

« Median / A& Gﬂ’%—q'_‘l)

49) The stem above the ground in banana is known as: /
FA T YT F SR P a1 o - peTomEare:

1. Trunk / ddT @

2. Rhizome / Y& (TZSIH)

3. Sucker / FHdH (HPX)
4. Pseudostem / BT (YSRCH)

Correct Answer :-

« Pseudostem / BT (S RSH)

50) The inability of a hybrid to produce viable offspring is known as: /

agrd dfd I= B | 3H&H TP 9 (@Tsfos) & = & = o =1 wrar &
1. Hybrid sterility / SR S&IdT (T3fore wexferd)

2. All of these / JURTSRT JH

3. Hybrid breakdown / 3 fawR (EE@_S' WBT‘D

4. Hybrid inviability / HhR Siia-1-3{&HdT (BTfeie garsiaferet)

Correct Answer :-

« Hybrid sterility / GPx &Il (STEfore Txferel)

51) The earth’s magnetic field at a certain place has a horizontal component of 0.3 x 10T and the total

strength is 0.5 x 10T. The angle of dip at that place is: /

TS FHIF3a R R gdt & gaaig &5 &1 &8s 9e® 0.3 x 10T 8 3R Fa i 0.5 x 10417 8139
I W U B g:



1. Cos™! 3/4
2. Cos™1 4/3
3. Cos™! 3/5
4. Cos’! 5/3
Correct Answer :-
« Cos™! 3/5

52) The plough used for maximum moisture conservation is: /
iftrean T4t TR0 & forg IwRIed g 1 IuANT fhar St &:
1. Chisel plough / EISSRS|

2. Cultivator / e Idex

3. Disc harrow / [&%&% %ﬁ

4, MB plough / THT B

Correct Answer :-

« Chisel plough / diold 86

53) The most commonly used pumps in tractor hydraulic system are: /
o gTs S ITore Ried # e o 9ma= 4 @ 9aifilie vy 814 &
1. Piston types / fOeq @12y

2. Gear types / R T8y

3. Vane types / aq cIgy

4, Centrifugal types / @I;\nl R]uTe] CIQY

Correct Answer :-

« Gear types / TR @184

54) The pesticides that act by permeating the entire plant are said to be: /

q PIeATRIS ol ¥ N B TR HIP AU =T F 3T Hd 8, (4 Head o:

1. Penetrating pesticides / NGh BICIRID ( aglalé‘l a@ﬂﬁ:’@{ﬂ)
2. Porous poisons / TRY fay (an UT%GFD



3. Systemic pesticides / FAN N DICARID (RRCHCH UK ATS )

4. Contact poisons / et faw (OIOT'EOIC H\Ils\rl'-l)

Correct Answer :-

+ Systemic pesticides / FaT HieARIEG (Rreenfes aﬁjmlggﬁ)

55) The site of protein synthesis in a cell is: /

TS HIBT A I ARATT 71 R IR g &:

1. Chloroplasts / ERAAAP (FIRIEIRC)

2. Endoplasmic reticulum / &Héaﬂwf%m (@WW
3. Ribosomes / TI%@@I[

4, Mitochondria / II’WT%TIT

Correct Answer :-

« Ribosomes / Tlﬂ_cﬂ@'ﬁ[

56) Puddling is done to: / gtc,'l%m fa® fore =t St e
1. Pulverise the soil / Hal Co| PR A

2. Level the field / @ 1 SRT&R A
3. Reduce percolation of water / U o 3{d:Fqur § HH A
4. Kill weeds / GR-UTAR T B

Correct Answer :-

« Reduce percolation of water / U o 3id:9qur H HH HeA

57) Inbred lines in maize are maintained by: /

HFRPT H 3. USTd 925 H (39S A1) 1 & GRT AafRyd o1 3:
1. Cross pollination / HHR GRFTOT

2. Self pollination / ¥d-URTTUT

3. Open pollination / gcIT YUXNTUT

4. Sib pollination / & GRETOT

Correct Answer :-

« Self pollination / ¥d-U[TU]



58) Ten cousins A (eldest), B, C, D, E, F, G, H, I, and J having an age difference of 4 years each decide to go
for a picnic. If J being the youngest is 6 years old, then what is the age difference between A and J? /

T TR HISTl A (|E), B,C,D,E,F,G,H,I T4 J B 39 H 4 99 &7 3ia & au1 I e R o= &1
frofa w3d &1 afe J I BIeT 8 TUT TP I 6 Y 8, df A T J & ST IY BT 3R T 82

1. 40 years / 40 ay
2. 38 years / 38 9%
3. 42 years [ 42 Ty
4. 36 years / 36 CL

Correct Answer :-

« 36 years/36 CL

59) Success in rural development project depends upon: /

gretor i ufaten o wadr e R Rk et e:
1. Participation of beneficiaries / Fﬂ'l-l'l'fﬁ &t ﬂ_s"l-l'lﬁ?l'[

2. Amount of subsidy / §3¢C P YRR (ﬂ'@l@ TIﬁT)

3. Regular training of workers / HIRI ! FHafira ulRieorn

4. Regular contact of workers / HIHRI I fafd dud

Correct Answer :-

« Participation of beneficiaries / ET'J-ITW &t ﬂ_s"l-l'lﬁl?ﬂ

60) Mention the pressurized irrigation systems? / E'Iﬁ'lﬂ?ﬁl’d Riars yurelt &1 I B2
1. Check basin irrigation / aRE ﬁﬁﬂg P S B

2. Border strip irrigation / CIER @'C[ ﬁﬁﬂ's‘

3. Furrow irrigation / % ﬁﬁﬂ'—ic

4, Sprinkler and drip irrigations / fSiweR 3R ﬁ:{q ﬁlﬂ]‘s‘

Correct Answer :-

+ Sprinkler and drip irrigations / fBHeR 3R E'q REIS

61) Planting of succeeding crop before the harvest of a standing crop is known as: /

TSl FUd B Hers A Yd gadl Bad & AU i & U U JHETSEr |



1. Multiple cropping / dg I (HeCITd ShITUT)
2. Mixed cropping / foigrd g (&Ia:\‘:l_s' ﬁﬁl’ﬂ)
3. Relay cropping / 3JUc I (ﬁﬁ WVFEP'D

4. Inter cropping / 3{RT IR (FcX Wuﬁ"'l)

Correct Answer :-

« Relay cropping / 3{JUq I (ﬁlﬁ fﬁ\ﬁﬁ'r[)

62) What is the necessity of raising calves? /
TOSI P! 9CM B FT TG ad 22
1. Only to reduce mortality in calves due to poor management. /
Had HUSIR YU & HRU IS bl G H HH! R o fory
2. All of these / SURTSRT FH
3. Only to build a good dairy herd with pedigree animals free from hereditary defects. /

Al IR G J Hod =Tl U3l o 1Y Teb 35T ST S &1 & ey

4. Only to achieve early maturity and productivity. /

had 2y uRugadT 9 Idredhdl UTd B+ fou

Correct Answer :-

- All of these / SURTE I

63) A year is considered as drought year, when there is: / dg 'q'cfwmw HIET SITdT %, ulq -
1. 85% less rainfall than normal / qTHTT T 85% HH au‘f Eﬁ?ﬁ %

2. 25% less rainfall than normal / ITHRI A 25% HH GL] Eﬂ?ﬂ %

3.75% less rainfall than normal / STHIRI ¥ 75% HH a8 Bl &

4. 50% less rainfall than normal / ITHTI A 50% HH aﬂf@?ﬁ %

Correct Answer :-

« 75% less rainfall than normal / qTHTI ¥ 75% HH a'qffﬁ?ﬁ %

64) ICAR-National Academy of Agricultural Research Management (NAARM) is located at: /

STSHITIAR-ITETT FIY ST TaeA STt (TAUTREH) fA e A fRua 8:

1. Karnal / &A1



2. Hyderabad / R

3. Nagpur / TNTYR
4. New Delhi / T8 faeait

Correct Answer :-

« Hyderabad / %aﬂala

65) Feeding of tender sorghum fodder results in: /

S SGR BT IRT @M P IRUTAGEY = ghar 3
1. Oxalate poisoning / Sfiqacie fauTe

2. Cyanide poisoning / YIS IELIESE]

3. Nitrate poisoning / ?Iséjc' ICLIESE!

4. Saponin poisoning / JUf fasrad=

Correct Answer :-

« Cyanide poisoning / TS S fauTad—

66) Ring worm infection in cattle is caused by: /
Tl & Ma Hf Tehaor A F SR g 8:
1. Virus / ﬁw

2. Fungi / ddh

3. Bacteria / GﬁaTQI
4. Parasite / O¥SiIal

Correct Answer :-

« Fungi/®ddh

67) Which of the following nutrient imparts disease resistance to crops? /
frufafaa 3 @ w19 a1 v 9@ Bl & forg I ufertus ueH #ar g2
1.N

2.K

3.Cl

4. H



Correct Answer :-

- K

68) Which of the following is a major symptom of Brucellosis disease in cattle? /
HafRral § g A & fafefea # @ o uqa a4 §id 82

1. Profuse nasal discharge / 3P ATH CRE

2. Lameness in affected legs / T ]I | NUEIEE

3. Abortion mainly during advance or late phase / ¥ *4 | %j,b\?rﬂ?ﬁ 1 Sifaw TR 7 U
4, Bleeding from natural openings / W BIARECSEEICEI]

Correct Answer :-

+ Abortion mainly during advance or late phase / H U | WG‘I'IT'ﬂ 7 3ifaw =RoT § U

69) Which of the following is a partial root parasite? /
frafafea o S w1 v Siiflie o weidl 82

1. Cuscuta / dIHcT

2. Striga / R

3. Loranthus / AR

4, Orobanche / 3{TI[ (m

Correct Answer :-

« Striga /I@jl

70) Which of the following is NOT an American breed of poultry? /
fFrefafea & 3 w19 @ papeured #1 e smfive! v 18 82
1. Cornish / IR

2. New Hampshire / Q%W

3. Rhode Island Red / TS 3MTZCIS X8

4. Plymouth Rock / IISHISY H

Correct Answer :-

« Cornish / P



71) Which of the following is NOT essential for germination? /
3ipur & fore fFAfafaa # 9 war smazgs a8 82
1. Wind / Ud-

2. Soil / HaTl
3. Water / SIc]

4. Air /dIYg

Correct Answer :-

« Wind /Ud-

72) Which of the following is NOT a system of farming? /
frafofed & & w1 g @ddt 3t gomedt 76t 32

1. Collective farming / W il

2. Rain fed farming / gy Rifad @

3. State farming / ST 1 it

4, Cooperative farming / HehRI Wit

Correct Answer :-

« Rain fed farming / guf Rifaa @t

73) Which of the following is NOT a method for water conservation? /
Frafafea & @ o1 1 e oo wRer 3t faf o1 Igmevor 18 32
1. Avoiding water wastage / Ul &1 Saie! e

2. Improving irrigation efficiency / Riers e o GYUR HIAT

3. Groundwater extraction / 'ﬁ[&l’rl?f o fsmsr

4, Rainwater harvesting / auf o JYgul

Correct Answer :-

- Groundwater extraction / HfETd Sl B 0T

74) Which of the following is the quickest method of lawn making? /

frfafeaa & @ o149 a1 arq 9 7T J99 d aRieT 82
1. Turf plastering/?c%Wﬁ"T



2. Turfing / Tl
3. Seeding / IS
4. Dibbling / f&afeiTT

Correct Answer :-

« Turfing / efthfeiT

75) Which of the following is an organic pesticide? /
frfafea 3 9 w1 @ Sfas Sieame 82

1. Zinc phosphate / S widhe

2. Neem extract / =19 BT 3fch

3. Blue copper / BINIKIEI]

4. Chlorpyrifos / FARUTSRIH G

Correct Answer :-

« Neem extract / 18 BT b

76) Which of the following micronutrients is essential for the synthesis of auxin? /
TR & TRAWT & fore = o | frw gea Miues 9t srazasar gidl 872

1. Mn

2.Zn
3. Silicon / RferpTa

4, Cu

Correct Answer :-

77) Which of the following methods of irrigation has the highest water use efficiency? /
Riarg & Fafafea 8ol § 4 fad 3w wa SuahT gamr 32

1. Sprinkler / fBieper

2. Drip/ ﬁ';'q

3. Surface / Hdg

4. Furrow / $S



Correct Answer :-

. Drip/ﬁ';'q

78) Which of the following is not the part of male reproductive system? /
frfafea & 9 w1 =R 994 @3 &1 U g 82

1. Scrotum / W’q

2. Testes / 9UUT

3. Fallopian Tubes / YR A1

4. Epididymis / S{&quuy

Correct Answer :-

« Fallopian Tubes / YT 1

79) Which one of the following statements is wrong about heat energy? /
ST ol & a) # FaffEd # | 19 91 0@ $Y 7194 82
1. Heat energy can be focused to a point by a lens. /
ST S0l U o GRT U foig TR dhisd &1 off Gahell |
2. Heat energy can be transmitted through a glass plate. /
ST o1l U $Id B Wic b ATeH J UNd &t S Ghell 5|
3. Heat energy can be reflected by a mirror. /
SISl T U ¥ WRTafid g1 9 5|

4. Heat energy cannot be used to do work. /

BT B P 1T S S BT YA T8} {1 ol Ghar g |

Correct Answer :-

« Heat energy cannot be used to do work. /

BT B B 1T ST Sol b1 FaNT g b o b1 B

80) Which one of the following is NOT the mode of radio broadcast? /
frforfea & @ @ e R &1 |y A8 32
1. Lectures / HIYUT T qRATT

2. Straight talks / ieft ard-<fta



3. Songs / T
4, Interviews / HI&ThR

Correct Answer :-

« Straight talks / Itefl STd-<td

81) Which one of the following is NOT a tool of farm management? /
frafafaa ¥ @ i Q@d yded 10 ¢d 781 82

1. Farm planning / S T

2. Farm bookkeeping / B Serardl

3. Farm budgeting / ?ﬁf AU

4. Production and cost function / SdTc Q_d Al lenllf

Correct Answer :-

« Farm planning / ST TSI

82) Which one of the following conditions is the reason for the seedlessness in “Thompson Seedless”
grapes? /

fFrafafaa ¥ 9 o @ Rfa 4w dsaa iRl d 69 9 81 $1 FRur 82
1. Parthenocarpy / grfAreeTdf

2. Incomplete flower / GfCLUf hd
3. Non-viable pollen / 3{d &6 TR

4. Stenospermocarpy / TCARGHIBIH

Correct Answer :-

+ Stenospermocarpy / TCARGHIBIH

83) Which one of the following phosphatic fertilizers is a by-product of steel industry? /

fFafafEa wiabfes e & I B AT ST ITURT BT UG &2
1. Basic slag / §ATG UTqHA (SRH T

2. Nitro phosphate / Tg¢] hi&he

3. Single super phosphate / RITel YR Hidhe

4. DAP / SiqUt



Correct Answer :-

« Basic slag/m YrgHT (éﬁ@m

84) Which type of soil exhibits self turning property? /
e yor o frg dew e urad vefRfa ovd 32
1. Laterite soil / é%ﬂs? ﬁré’[

2. Alluvial soil / STellg fHg!

3. Red soil / dTdd ﬁl@of

4. Black soil / STl &I_gp[

Correct Answer :-

« Black soil / &Tdll &I_gp[

85) Which part of root absorbs water and minerals? /

W€ BT B TT YRT o YT Wirell &) Sad HIa1 82
1. Root cap /Hff"n'q(?‘\_d%%

2. Root hairs / Hcl 3 (xc %tlﬁ)

3. Epidermis / dTglcddl (Qﬁ@'m)

4. Endodermis / 3fd:<l (@m

Correct Answer :-

+ Root hairs /H\F‘fﬁq W%ﬂﬁ)

86) Which of following vegetables does not require specific low temperature before flowering? /

fFrefafea 3 19 @ Tt # paa | v fafkre A= araum 9t srazaear T8t gkt 82

1. Beet root / gha
2. Brinjal / S
3. Cabbage / demmat

4. Onion / @Sl

Correct Answer :-

« Brinjal / T



87) Which method of estimation of available phosphorus is used for neutral and alkaline soils? /

TR 3R & Fd) & SUeiey BTEpRY & TP 3 PI IT 31T SYTNT fohaT SITeT 82
1. Olsen method / 37T fafdr
2. Bray Il method / & I1 faf¥)

3. Bray I method / s 1fafd
4. Kurtz method / W\ fafdr

Correct Answer :-

o Olsen method / 3N fafyr

88) Which method of milking is used in commercial dairy? /

aifdfe S8 & gy Frerem a9 o1 @ il e @ 22

1. Machine milking /mzﬂq@rg‘am GRICEEIRE),
2. Fisting / fthf&

3. Knuckling / TdEY (ADH )
4, Stripping / IERIE] (@ﬁ"’l}

Correct Answer :-

« Machine milking /mﬂ:rﬁgugﬁ GRICEEIER),

89) Buttoning is a physiological disorder in: / e+ e ° g1 aren TS ARIR® fearse @

1. Garlic / dgg-
2. Cabbage / Ul |

3. Onion / YIS

4. Cauliflower / Bd Tt

Correct Answer :-

+ Cauliflower / odd Mt

90) How many ATP are required to produce 1 mole of hexose in photosynthesis? /
WHTRT AT § 1 Hid dars & fmfor & forg fsamr aTp &Y sazgwar gidt 32
1. 18

2.8



3.38
4.28

Correct Answer :-

« 18

91) Chemicals that inhibit the feeding in insects when applied on foliage without impairing their appetite is
.

T S Y@ B AT A Pl Tl WA A P A vaor s A eare, @l
1. attractant / 3T ST

2. repellent / TS

3. antifeedant / SRFRIE

4. none of the above / 3?13[ q ﬁé 7‘|€[

Correct Answer :-

« antifeedant / MR

92) Spraying or dusting of gammexane, DDT or malathion is done for the management of which disease in
poultry? /

T # TR, ST a1 Aol o1 fsora 399 A f5d A7 F IR & Fu A faar srar g2

1. Nematode / AP Y (AHICIS)

2. Flukes / TUTGH T (TRIERT)

3. Ectoparasite / CIREREIE] (Qaiﬁﬁ?mg‘c’)
4. Coccidiosis / PRI

Correct Answer :-

. Ectoparasite / STETURSIA} (TFIURTATIT)

93) Hydrocarbons X, Y and Z have melting points equal to — 190°C, — 110°C and — 90°C, respectively. Which
one of these hydrocarbons has the maximum number of carbon atoms? /

BIZSIBTEA X, Y 3R Z & TeHid HHIM: — 190°C,— 110°C 3R — 90°CF RTR & | 74 A I I T
BIZSIBTa | HIa- UV Pt Siftrran wem 8?2

1. All three have the same number of carbon atoms. / FHI diFll & WIE&-[ WTUlGﬁ &1 =T JHE Eﬂ?‘ﬁ % |
2.7

3.X



4.Y

Correct Answer :-

o 7

94) CANCELLED

Although ammonium nitrate is an ionic compound it contains: /

I STHINIH ATSSE UH AAAT Y § THH SAEAT gIaT Z:

1. lonic and covalent bond only / ad 3T 3R TS MY

2. lonic bond, covalent and coordinate bond / 3Ma- (&Y , TeTdIol, IUTETHATST §¢/
3. lonic bond only / FaeT AT ML

4. Covalent and coordinate bond only / FgEITSIT 3T ITHGEITSIT T

Correct Answer :-

« lonic bond, covalent and coordinate bond / 3Tt 3MTEY , TgToH, IUTGTIIS §¢

95) CANCELLED

Which of the following is NOT a feed additive? /

fr=afefaa & @ = WieE § fremar oA aren 9ivie (wis tfefea) 7d 82
1. Antioxidants / G&l3fiRiTS

2. Flavoring agents / ¥d1¢ dgM dld Toicy

3. Antibiotics / UCTaIfCH

4. Fish meals / AT HIoH

Correct Answer :-

« Fish meals / A& HIoH
96) CANCELLED
Which of the following is NOT an advantage of loose housing system? /
SR T8 UuTTel &1 fFAferfaa o S o ve ey 81 32
1. Total floor space required is more. /
3ifirep W R B SRR gl

2. Cows are milked in milking barn so clean milk is obtained. /

Y &1 g4, g AT a1 IR (fAfeds a1 & Feran srar 8 o Taws gy urd grar g




3. Labour requirement is less. /
91 P SHTTIHAN HH I 5|

4. It is suitable for only warm region. /
g Had T &1 & e Iugad g 3|

Correct Answer :-
» Total floor space required is more. /

31 Rl R B SRR il B

97) CANCELLED

The acidity of cow milk is: / TR & g B 3[TdT Bidll 3:
1.0.19t0 0.21% / 0.19 ¥ 0.21%

2.0.17 10 0.19% /0.17 ¥ 0.19%

3.0.13 0 0.14% / 0.13 ¥ 0.14%

4.0.15t0 0.17%/0.15 ¥ 0.17%

Correct Answer :-

e 0.13100.14%/0.13 ¥ 0.14%

98) Which of the following test is done to know the fat content of milk? /

Y & T9T 3qYUd Bl A & forg fFrafafaa o & o= a1 wiieror faar smar g2
1. Sediment test / TTBC URI&UT

2. Sensory test / Hda| URI&UT

3. Gerber Test / &R URI&UT

4. Inhibitor test / 3fARIY TRI&UT

Correct Answer :-

« Gerber Test / &R TRieor

99) is an oilseed crop. /
s fads (sifaasiis) wad 71
1. Rice / dldd

2. Groundnut / EETCh_c‘ﬁ



3. Wheat / ﬁ_§'

4. Gram / 9T

Correct Answer :-

+ Groundnut / H:‘TCIWF[

100) In a quadrilateral ABCD, sum of the angles A and C is twice the sum of the angles B and D. If angle A is
o o
150 and angle D is 50 , then angle B is ./

% TgYs ABCD H, HIUT A TH HIUT C HT IR, HIUT B TH HIVT D & TNT HT AT 8| af HIUT A = 1500 T BT D
=508, A HUIB=__ Bl

o

1. 50

o

2.80

3.120

o

4.70

Correct Answer :-

o

« 70



